Nov. 30 Section 1.3.notebook November 30, 2015

Curriculum Outcome

General Outcome: Develop number sense and
critical thinking skills.

N1 Solve problems that involve unit pricing and
currency exchange, using proportional reasoning.

N2 Demonstrate an understanding of income,
including: wages, salary, contracts, commission,
piecework, and calculating gross pay and net pay.

N3 Demonstrate an understanding of compound
interest.

N4 Demonstrate an understanding of financial
institution services used to access and manage
finances.

N5 Demonstrate an understanding of credit options,
including: credit cards, and loans.

Student Friendly:

Warm- Up

1. The ratio of flour to shorteﬁing in a piecrust
recipe is 2:1. If a baker makes 30 cups of
piecrust, how many cups of flgur and

mng does he use? e
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. e
20 Cups of ﬁev\_r

P-F-S  3020=/0g4 5
2. One bookstore sells notebooks in packages
qf 12 for $15.48. Another bookstore sells the
same notebooks in packages of 15 for $19.65.
Which is the better price?
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SUPPLY/DEMAND:

- demand rises...cost increases.
- demand falls (or over supplied)...cost decreases.
The difference between the amount

Mark“p a dealer sells a product for and the

amount he or she paid for it.

Percent means "out of 100'"; a *
percentage is a ratio in which the

prcel [mmsri

The markup is usually a percent.

What's in a price???

- $39.99 seems less expensive than $40.
- price / 100 g rather than price / kg.
- weekly payments rather than monthly.
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EX: The markup of the T-shirts is 25%. If the cost of
making a T-shirt is $8, determine the selling price...

&6 '/ of 8.00 meeae K 7 o deetd

two ways Lﬁ Al lO IGD
to calculate the ‘ (\J
O-(ZS X 8 : selling price.

1.Cost x PercentOR 136:/1
8 X0 WA Cost x Percent ]
- Q00 g)@O Xl 25
2.Cost + Markup
§.00 t-0a = /D 00 .
=10.00

; What else

affects
selling price?

¢
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Goods and Services Tax

GST PST HST
NS 15%
NB j 13%
NFLD 13%
PEI 14 %

Provincial Sales Tax

__http://lwww.cra-arc.gc.ca/tx/bsnss/tpcs/gst-tps/gnri/menu-eng.

LS

GST & HST Rates
Province Type PST
(%)
Alberta GST
British Columbia GST + 7
PST
Manitoba GST + 7
PST
New Brunswick HST

Newfoundland and HST

Labrador

Northwest
Territories

Mova Scotia
Nunavut
Ontario

Prince Edward
Island

Quebec

Saskatchewan

Yukon

GST

HST
GST
HST

HST

GST + "9.975
QST

GST + 5
PST

GST

GST HST
(%)

(%)

o o

o

o

Harmonized Sales Tax

Total Tax Notes:

Rate
(%)

12 As of April 1, 2013, the HST rate
no longer applies in British
Columbia

h

o


http://www.cra-arc.gc.ca/tx/bsnss/tpcs/gst-tps/gnrl/menu-eng.html
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Finding the tax...
0.1
|Amount of Tax = Regular Price x Tax (as a decimal)|

|Tow1 Cost = Regular Price + Taxl O_K_ P"l ce X l. l3

Find total cost...

Find the total cost (including HST) for each of the following...

15
R

L8

L}qggxnﬁ

35,23

sssssssssssss

Amount of tax?

o phtad 4% 745-00
SJ!O\X( 510 536,99
Lota| $95081.85

$26 554

“(two steps)
Sb %MJ %

—

'h A !
uCos’cxP rce GST"'Eg a X Percent (PST tax)

570F 695 = 359 X 0:0% :

0.05 X Hdb 9% (Jra1ay. 9
& 121,10

SubfvhJ &(065'“1
G\, T 8 )237,70

PST #a[3H. 3R
Total #30006-02
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= Arlene purchases

» fabric at a wholesale

% price for her custom

20 sewing business in
=2~ Cavendish, PELI.

She pays $46.00/m.
She charges a markup of 20% on the fabric.
What will Arlene charge her clients per metre?

‘ #_ d\_@,‘\/\“P
e x0.20=9. 40
Uyt 0],;10: 65.20

STOP
AND HW: Page 32

THINK Questions 1 -6

1.3 Build Your Skills Detailed Solutions.pdf
%

1) $36.40 / shirt
)$ 5)a) $1 373.25
2) $350.13 b) $150
3) $228.58 6) a) $2.88
4) $1099.75 without tax b) $38.88

$1242.72 with tax



Attachments

Q 1.2 Build Your Skills Detailed Solutions.pdf
Q 1.3 Build Your Skills Detailed Solutions.pdf



Section 1.2 Unit Price, Build Your Skills, p39—40
Student Resource p26-27

Build Your Skills
1.
$1053.00
1 - $87.75
The unit price of each sink is $87.75.
2. Package A:
$19.99

7= $2.86/kg
Package B:
$35.95

= $2.57/k

14 - $257/ke
Package C:
$50.99

1 $2.43/kg
Package C has the lowest unit cost.
3.
$120.00

= $30.00/lock
$192.00
e = $32.00/lock

The first supplier has the lower cost per lock. When selecting a lock, you should also
consider the quality of the locks, since you want them to be secure.

4. a)
$15.49
= $7.75/shirt
$22.99
7= $7.66/shirt

b) 2 packages of 3 plus 1 package of 1?

2($22.99) + $9.98 = §55.96

Or 1 package of 3 plus two packages of 2?

$22.99 +2($15.49) = $§53.97

The best combination is to buy one package of 3 shirts and two packages of 2.

5. a) First, convert everything to kilograms so all the denominator units are the same.
500 g=0.5kg
Now, calculate unit price.

$7.50 _ $15.00/k
05kg  o1>00/ks

$12.50/kg

$1950 o
15kg _ 13.00/ke






So, the second price is the best buy.

b) Which combination will be the best price for 2.5 kg?

Two of the second price plus one of the first?

2($12.50) + §7.50 = §32.50

Or 1 of the second price plus one of the third?

$12.50 + $19.50 = $32.00

(You can factor out buying mostly from the first option because it is the most expensive.)
The best price for 2.5 kg of meat can be obtained by buying 1 kg at the second price and 1.5
kg at the third.

6. Convert the denominators to kg.

250g=0.25kg

500 g=0.5kg

Then calculate unit price.
25 _ $17.00/k
025kg  01700/ke
$7.95
Fkg = $15.90/kg
$29.50

> = $14.75/kg

The last package of meat has the lowest unit price. Nonetheless, the other store has two unit
prices that are lower than this, so it would be better to buy your meat at the other store.

Extend Your Thinking

7. There are a couple of ways to solve this problem. Here is one option. First, you need to
figure out which kit has the lowest unit price so you can see which kit is the best value. First,
calculate the price per worker each kit can cover.
Kit 1:
$42.50
= $4.72

9
Kit 2:
$58.25

40
Kit 3:
$70.50

T $0.94
Kit 3 has the best unit value. How many does Jason need?
First, divide the kits needed by the number of workers to see how many kits are needed.
250 workers 334

Then calculate how much these 3 kits would cost.

3 x $70.50 = $211.50

How many workers still need kits if Jason buys 3 of kit 3?

First, calculate the maximum number of workers these 3 kits will cover.

3 x75=225

Then, calculate how many workers still need to be covered by subtracting 225 workers
(already covered by 3 of kit 3) from the total number of workers.

= $1.46






250 —225=25
Kit 1:

25—278
9_ .

Calculate the total cost of these 3 kits.

3 x $42.50 = $127.50

Kit 2:

One kit 2 will cover all 25 workers at a total cost of $58.25, which is a better buy than three
of kit 1.

Now, calculate the total cost.

$211.50 (3 of kit 3) + $58.25 (1 of kit 2) = $269.75

The least expensive combination is 3 large kits and 1 medium kit at a price of $269.75,
before taxes.
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Section 1.3 Setting a Price, Build Your Skills, p43—44
Student Resource p32-33

Build Your New Skills

These solutions were worked out using the tax rates in effect at the time of publication and
are included on p. 29 of the student book.

1. As a percentage, the regular price plus the markup is 100% plus 60%, which equals
160%.
1.60 x $22.75 = $36.40 a shirt

2. $49.95 + (2 x $129.95) = $309.85
HST is 13%.

13 =0.13
100

0.13 x $309.85 = $40.28

The total HST paid on the items is $40.28.

$309.85 + $40.28 = $350.13

The total cost of the items, including tax, is $350.13.

3. $49.95 + $129.95 = $179.90

As a percentage, the St. John’s price plus the markup is 100% plus 10%, which equals 110%.
$179.90 x 1.10=$197.89

As a percentage, the PEI price with PST and GST is 100% plus 5% GST plus 10% PST, or
115%.

$197.89 x 1.15 =$227.57

You would pay $227.57 for a hard hat and a pair of steel-toed boots in PEI.

4. As a percentage, the regular price plus the markup is 100% plus 25%, or 125%.
The sink:

$89.95 x 1.25=9%112.44

The bathtub:

$639.95 x 1.25=$799.94

2 faucets:

2 x $74.95 = $149.90

$149.90 x 1.25 =$187.38

Add to find the total she charged her customer, excluding tax.

$112.44 + $799.94 + $187.38 = $1099.76

5.a) 50 x $3.50 =$175.00

175 x $3.99 = $698.25

250 x $2.00 = $500.00

$175.00 + $698.25 + $500.00 = $1373.25

Her total income is $1373.25.

b) 100 x $3.50 = $350.00

100 x $2.00 = $200.00

She receives $150.00 more income if she sells 100 quarts directly from her farm. Students
may suggest that she would sell to a wholesaler because she may receive large orders from





wholesalers or she may not be able to sell all her crop directly or at the farmers’ market.

6.2a) $2.50 x 1.15=$2.88

The new unit price would be $2.88.

b) First, find the difference in price per person.

$2.88 — $2.50 = $0.38

Then, find the difference for 100 people.

$0.38 x 100 = $38.00

She would make $38.00.

¢) Student answers will vary but should show they have considered various options such as
trying to source less expensive ingredients and supplies; making her portions per person
smaller; or trying to find ways she can be more efficient with her time, including perhaps
hiring a delivery person.

7. Answers will vary but students may suggest discounts of as much as 50%, since that is a
fairly common discount for out-of-season items. Students should recognize that Marie’s
profits will be lower, but that some revenue is better than no revenue on those items. Marie’s
reasoning would be that she has paid for these items and that it’s best if she tries to recover
some of the money she spent.

Extend Your Thinking

8. First, convert kilograms to grams.
10 kg x 1000 =10 000 g
Find the unit price per gram.

$175.00 0o
10000g _ ~0-0175/8

Calculate the price for 250 g.

250 g x $0.0175 = $4.38

a) Student answers will vary but they should consider overhead costs such as the rent and
utilities for the store; equipment costs such as a display fridge for the cheese and knives or
other tools; materials for displaying, storing, and packaging the cheese such as plastic wrap;
and staff time for stocking, cutting, and serving the cheese.

b) $4.38 x 1.40 = $6.13

It would cost $6.13 for 250 grams.

¢) Since the customer is getting a discount of 15%, they are paying 85% of the original price
(100% — 15%).

$6.13 x 0.85=85.21

The price would be $5.21.

d) Yes, you would still be making a gross profit.

$5.21 — $4.38 = $0.83

But you would also need to consider whether this smaller margin would cover your
additional costs, as discussed in a).
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